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	SAMPLE QUESTION PAPER FOR AISSCE-EXAM-2016
	AS PER NEW SYLLABUS ISSUED BY CBSE



PART-A ACCOUNTING FOR PARTNERSHIP FIRM AND COMPANIES
Q1. When the existing relationship among the partner[s] change and new agreement come into force. This is known as:
A. Revaluation of partnership 

B. Reconstitution of partnership

C. Realization of partnership

D. All the above.                                                                                                          [ANS-B]       [MARK-1]       
Q2. Amit, Sami and Sarthak were partners in a firm sharing profit & loss in the ratio of 2:2:1. At the time of admission of a partner the goodwill of the firm was valued at ₹ 2, 00,000. The accountant of the firm passed the entry in the books of accounts and thereafter showed the goodwill at ₹ 2,00,000 as an asset in the balance Sheet. Was he correct in doing so why?
                                                                                                                           [HOTS]   [ANS-NO]     [MARK-1]
Q3. Sai, Sarthak and seema are partners. The firm had given a loan of ₹ 10,000 to Sarthak. They decided to dissolve the firm. In the event of dissolution, the loan will be settled by:
A. Transferring it to the debit side of realization account
B. Transferring it to the credit side of revaluation account
C. Transferring it to the debit side of Sarthak’s capital account

D. None of the above                                                                                       [ANS-C]             [MARK-1]

Q4. Define the capital reserve with suitable example                                                                    [MATK-1]
Q5. Sat  Guru Dayal Ltd. Issued 5,000 shares of ₹ 100 each payable ₹ 20 on application [on 01.05.2012]; ₹30 on Allotment [01.01.2013; ₹ 20 on 1st call [01.07.2013] and the balance on final [2nd call] [01.02.2014].

        Shreyansh, a holder holding 500 shares did not pay the 1st call on the due date. The 2nd call was made and Shreyansh paid the 1st call amount along with the 2nd call.. All sums due were received. The total amount received on 1st February was:
A. 15,00,000
B. 1,60,000

C. 10,00,000

D. None of the above                                                                                    [ANS-B]              [ MARK-1]
Q6. How much amount is payable to creditors if total creditors are ₹ 23,000 of which creditors worth ₹ 3000 are unclaimable and remaining creditors agreed to allow a discount of 2% ?    

                                                                                                                             [ANS-19,600]        [MARK-1]
Q7. State any three utilization of securities premium                                                                        [MARK-3]
Q8. Sarthak and seema were into the business of providing Softwares Solutions. They were sharing profits and losses in the ratio of 3:2. They admitted Sat Guru Dayal for 1/5 th share in the firm. Rohit, an alumni of IIT Chennai would help them to expand their business to various countries where he had been working earlier.. Sat guru dayal is guaranteed a minimum profit of ₹ 2, 00,000 for the year.
      Any deficiency in Sat Guru Dayal’s share is to be borne by Sarthak and Seema in 4:1 ratio. Losses for the year were ₹ 10, 00,000. Pass necessary Journal Entries.                            [MARK-3]
[ANS - CR.  SAT GURU BY ₹ 4, 00,000; DR SARTHAK & SEEMA - ₹3, 20,000 AND 80,000 RESPECTIVELY]
Q9. Sat Guru Dayal was formed with an authorized capital of ₹ 40, 00,000 divided into 4, 00, 000 shares of ₹ 10 each. The company issued 1, 00,000 shares at par. The price was payable as follows:
A. On application = ₹ 3 per share
B. On allotment   = ₹  5 per share
C. Final call           = ₹  2 per share

           The issue was fully subscribed and the company allotted shares to all the applicants. All money was received except the final call money on 5,000 shares. Show the share capital in the balance sheet of company as per schedule-III part-I of company Act-2013.                  [MARK-3]
Q10. Sat Guru Dayal Charitable Trust Nagaur, Rajasthan decided to free distribute 50 shoes to 50 orphanages. It also decided to give employment to the children from that orphanage that were above 18 years of age.
             In order to meet the fund requirement, the trust decided to raise 5,000 equity shares of ₹ 50 each and 40,000; 9% Debentures of ₹ 40 each. Pass the necessary journal Entries for Issue of Shares and Debentures. Also identify one value which the company wants to communicate to the society                                                                                                                                           [MARK-3]
Q11. Wise, Clever and Dull were trading in partnership sharing profit and losses 4:3: respectively. The accounts of the firm are made upto 31st December every year. 
            The partnership provided inter alia that on the death of a partner the Goodwill was to be valued at 3 years purchase of average profit of the 3-years upto the date of death after deducting interest @ 8% on capital employed and a fair remuneration of each partner. The profit is assumed to be earned evenly throughout the year.
           ON 30TH June, 2001, Wise died and it was agreed to adjust Goodwill in the capital accounts without showing ant amount of goodwill in the balance Sheet.
          It was agreed for the purpose of valuation of goodwill that the fair remuneration for work done by each partner would be ₹ 15,000 per annum and that the capital employed would be ₹ 1, 56, 000.
         Clever and Dull were to continue the partnership sharing Profits and losses equally after the death of wise. The following were the amounts of profit of earlier years before charging interest on capital employed.
	YEARS
	1998
	1999
	2000
	2001

	PROFITS
	67,200
	75,600
	72,000
	62,400


     You are required to compute the value of goodwill and show the adjustment thereof in the books of firm                                                                                                                                          [MARK-4]
[ANS- VALUE OF GOODWILL-₹ 39, 960; CR-WISE BY 15,984 AND DR –CLEVER-₹ 7992 DR DULL = ₹ 7,992]
Q12. Sarthak and Sat Guru Started a business on 01.01.1997 with capital of ₹ 1, 00,000 and ₹ 60,000 respectively. They decided to share profit in the capital Ratio. On the basis of the following figures, calculate the capital ratio and interest on capital @ 12% p.a
TABLE SHOWING CAPITAL DRAWING

	DATE
	CAPITAL INTRODUCED
	CAPITAL DRAWN

	
	SARTHAK
	SATGUR DAYAL
	SARTHAK
	SATGUR DAYAL

	1st APRIL
	20,000
	XXX
	XXX
	10,000

	3RD MAY
	XXX
	15,000
	5,000
	XXX

	1ST AUGUST
	30,000
	XXXX
	XXXX
	5,000

	30TH SEPTEMBER
	XXX
	20,000
	10,000
	XXX

	1ST NOVEMBER
	15,000
	XXX
	XXX
	10,000


[ANS-SARTHAK-₹ 14,  950 ; SATGURU = ₹ 7,500]                                                                  [MARK-4]
Q13. [A]:- The average profit of a business over the 5-years amounted to ₹ 9,000. The normal 
commercial  yield on capital invested in such a business is deemed to be 10% p.a. The net capital invested in the Business is ₹ 60,000. Find out the value of goodwill of the business if it  is based on 3-years purchase of average super profit of the last 5 years                
                                                                                                   [ANS-VALUE OF GOODWILL = 9,000]
[B]:- A, B and C are partners sharing profits and losses in the ratio of 3:2:1. The goodwill does 
not appear in the books but if it is worth  ₹ 3000. The partners will share profits in the future equally Give necessary journal entry for the above change and indicate individual partners’s gain or loss due to change in the profit sharing ratio                [MARK- 3 + 3 = 6]
[ANS-A’S LOSS = 1/6 AND C’S GAIN = 1/6]        [DR C’S A/C BY 500 AND CR A’S A/C BY 500]

Q14. [A]:- Mona Ltd has issued 20,000; 9% Debenture of  ₹ 100 each of which half the amount is due
 for redemption on 31st March,2016. The company has in its Debenture Redemption Reserve account, a Balance of [image: image1.jpg]


4, 40,000. Record the necessary journal entries at the time of redemption of debenture                                                                                         [MARK-3]
[B}- Shreyansh Ltd issued [image: image2.jpg]


60,000; 8% debenture of [image: image3.jpg]


100 each redeemable after 3-years 
either  by draw of lots or by purchase in the open market. At the end of three years, finding the market price of the Debenture at [image: image4.jpg]


95 per debenture, it purchased its entire debenture for immediate cancellation. Pass the necessary journal entries for cancellation of debenture                                                                                                                                        [MARK-3]
Q15. A, B and C sharing profits 3:1:1 agreed upon dissolution. They decided to take over certain assets and liabilities and continue business separately.
BALANCE SHEET AS AT  31. 12. 2006

	LIABILITIES
	AMT
	ASSETS
	AMT

	Creditors
Loan

Capita:

A = 23,000

B= 10,000

C = 7,000
	6,000
1,500

40,000
	Cash 
Sundry Assets
Debtors:-                            14,200
Less:- Prov.                         [-]600
Stock
Fixtures
	2100
23,000

13,600

6,800

2,000

	
	47,500
	
	47,500


It is agreed as follows:
A. Goodwill is to be ignored.
B. A is to take over all the fixtures at [image: image5.jpg]


1,900 debentures amounting to [image: image6.jpg]


 10,000 at [image: image7.jpg]


 7,200. The creditors of [image: image8.jpg]


 3,000 to be assumed by A at this figure
C. B is to take over half of the stock at [image: image9.jpg]


3,200 and certain of the sundry Assets at [image: image10.jpg]


7,200  [being book value less 10%]
D. C is to take over the remaining sundry Assets at 90% of the book value [image: image11.jpg]


 100 allowance and assume responsibility for the discharge of the loan together with accruing interest of [image: image12.jpg]


 20 which has not been recorded in the books of the firm

E. The expenses of the dissolution were [image: image13.jpg]


250. The remaining Debtors were sold to a debt collecting agency for 50% of the book value and the remaining stock was realized at 80%                                                                                                                                           [MARK-6]
[ANS- LOSS ON REALISATION = 7,950; DEFICIT BROUGHT BY B =[image: image14.jpg]


1,990 AND C [image: image15.jpg]


6,470; FINAL PAYMENT TO a = [image: image16.jpg]


 12,130 CASH a/c TOTAL = 15,380]

Q16. X, Y and z are partners in a business sharing profits ¾, 1/8 and 1/8 respectively and their Balance Sheet as on 31st December, 2015 was as follows:                                                [MARK-8]
	liabilities
	amt
	assets
	amt

	Sundry Creditors
General Reserve

Capital Accounts:

X = 50,000

Y = 30,000

Z = 25,000
	25,000
5,000

1,05,000
	PLANT & MACHINERY
Sundry Debtors

Stock

Cash

Patents
	50,000
35,000

20,000

25,000

5,000

	
	1,35,000
	
	1,35,000


             Z retired on 31st December,  2015 From the following particulars ascertain the amount due to Z by preparing important Ledger Accounts. Also prepare Balance Sheet after Z’S retirement and Z’S Loan Account upto final settlement of his account.
            Goodwill is to be valued at three years purchase of the average Profits of the last four years. The profits were as follows:

2012: [image: image17.jpg]


50,000 ;   2013: [image: image18.jpg]


60,000 ;  2014: [image: image19.jpg]


40,000  ; 2015 : 50,000

1) Goodwill Account is not to remain in the books.
2) Plant and Machinery was valued at [image: image20.jpg]


40,000, patent at [image: image21.jpg]


10,300 and stock at [image: image22.jpg]


18,000

3) A provision of 5% on sundr Debtors was necessary

4) On 30th june, 2014 a shed was constructed at a cost of [image: image23.jpg]


 10,000. This sum was charged to the profit & Loss account. This asset is now to be brought into books allowing 5% p.a depreciation on the Original Cost.
5) Y was to acquire the whole of the share of profit of Z
6) The total capital of the firm was to be 80,000 and capital of X and Y were to be in their profit sharing ratio. Adjustment to made in cash

7) Z is to leave [image: image24.jpg]


30,000 in the business as loan @9%. The remaining amount is to paid to him immediately

[ANS- Profit on revaluation = [image: image25.jpg]


800; balance of capital A/Cs : X = [image: image26.jpg]


60,000; Y = [image: image27.jpg]


20,000; opening Balance of Loan A/C = [image: image28.jpg]


30,000; B/S Total = 1,35,000]

Q17. M/SShreyansh Ltd issued prospectus inviting application for 4,000 equity shares of  [image: image29.jpg]


10 each at a premium of [image: image30.jpg]


4 per share payable as follows
On application     =[image: image31.jpg]


2 per share

On allotment        = [image: image32.jpg]


 7 per share [including premium]

On second call     = [image: image33.jpg]


 2 per share.

          Application were received for 6,000 shares and the allotment was made pro-rata to the applicants of 4,800 shares , the remaining applications being refunded. Money received in excess on the application was adjusted toward the amount due on Allotment.
         J, to whom 80 shares were allotted failed to pay the allotment money and on his failure to pay the 1st Call, his shares were forfeited. A ,the holder of 120 shares failed to pay the two calls and so his shares were also forfeited. All these shares were sold to M, credited as fully paid for [image: image34.jpg]


 8 per share.  Pass necessary journal entries to record the above issues of shares by the company                                                                                                                                                 [MARK-8]
[ANS- AMOUNT TRANSFERRED TO CAPITAL RESERVE =[image: image35.jpg]


392]

Q18. Identify the following into [1]:- Opening Activities [2]:- Investing Activities [3]:- cash Equivalents [4]:- Cash equivalent
A. Dividend received by Finance Company
B. Dividend received by Non-Finance Company                                                              [MARK-1]
Q19. Give an example of activity which remains finance Activities for every Enterprises    [MARK-1]
[ANS-payment of dividend, issue of shares for cash]
Q20. [A]:- Mention any 5 items that are shown under the head “ investment “ in the balance sheet of a
 Company.
[B]:- Explain how financial statement Analysis ignores qualitative elements               [MARK-4]
Q21. Prepare Comparative Statement of Shreyansh Ltd from the following Statements of profit and loss:                                                                                                                                                       [MARK-4]
	Particulars
	Note no
	31.03.2015
	31.03.2014

	1) Revenue from Operation

2) Expenses :

Purchase of stock in trade

Change in investment of stock in trade

Employees benefit Expenses

Other expenses including Provision for tax

Total expenses

3) Profit before tax [1-1]

Note:- Provision for tax
	
	12,00,000
	10,00,000

	4) 
	
	8,00,000

[30,000]

1,20,000

90,000
	6,00,000

50,000

1,10,000

80,000

	5) 
	
	9,80,000
	8,40,000

	6) 
	
	2,20,000
	1,60,000

	7) 
	
	50,000
	40,000


Q22. Gross Profit on sales is 20% and amount of gross profit is [image: image36.jpg]


90,000. Stock turnover ratio is 6 tims and opening stock is [image: image37.jpg]


12,000 less in compare to closing stock. Opening creditors and closing creditors are [image: image38.jpg]


60,000 and 75,000 respectively. On the basis of this information, find out:
A. Credit purchase    
B. Creditors  turnover ratio

Q23. From the following Balance sheet of  Sarthak Ltd, prepare cash flow statement.
	Particulars
	Note No
	31.03.2015
	31.03.2014

	I-EQUITY AND LIABILITIES

1. Share holder fund

a) Share capital

b) Reserve and surplus

2. Non-current liabilities
a) L.T. borrowings

b) 10% Debentures

3. Current liabilities
a) Short term borrowings [Bank overdraft]

b) Trade payables [creditors]

c) Short term provisions
	1

2

3
	2,00,000

6,400

14,000

13,600

22,000

20,000
	1,80,000

6,000

12,000

25,000

24,000

16,000

	TOTAL 
	
	2,76,000
	2,63,000

	II-ASSETS

1. NON-CURRENT ASSETS:

Fixed Assets

2. Current assets:
a) Trade receivables
b) Inventories

c) Other current assets[P.P. Expenses]

d) Cash and cash equivalents
	4
	1,50,000

58,000

60,000

1,000

7,000
	1,60,000

50,000

50,000

600

2,400

	TOTAL
	
	2,76,000
	2,63,000


NOTES TO ACCOUNTS:
	Particulars
	31.03.2015
	31.03.2014

	1. SHARE CAPITAL

a) Share capital

b) 12% Preference Share capital

2. RESERVE AND SURPLUS

a) General reserve

b) Balance in statement of profit & Loss

3. SHORT TERM PROVISIONS:

a) Provision for tax

b) Proposed Dividend

4. Fixed Assets  :- Cost

Less Accumulated Depreciation
	1,80,000

20,000
	1,55,000

25,000

	5. 
	2,00,000
	1,80,000

	6. 
	4,000

2,400
	4,000

2,000

	7. 
	6,400
	6,000

	8. 
	8,400

11,600
	6,000

10,000

	9. 
	20,000
	16,000

	10. 
	1,80,000

[30,000]
	1,82,000

[22,000]


ADDITIONAL INFORMATION:-
i. Fixed Assets sold for [image: image39.jpg]


10,000, their cost [image: image40.jpg]


20,000 and accumulated depreciation till date of sale on them[image: image41.jpg]


6,000
ii. Tax paid [image: image42.jpg]


7,000
[Ans- Inflow From Operating Activities = [image: image43.jpg]


13,200; Outflow From Investing Activities = [image: image44.jpg]


8,000;
Inflow From Financing Activities = [image: image45.jpg]


10,800]
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